1. (10 points) A circular puddle has radius 3 feet. Harry, the guinea pig,
plans to walk through the puddle and cool off.

Harry is located 5 feet east and 4 feet north of the center of the puddle and
he plans to walk directly toward the westernmost edge of the puddle. Harry
walks at a constant speed of 1.3 ft/sec.

How long, in seconds, will it take Harry to first enter the puddle?
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2. (10 points) Phil has 923 feet of fencing to make a rectangular enclosure.
He also wants to use some fencing to split the enclosure into three parts
with two interior fences that are parallel (this situation is illustrated below).
What dimensions should the enclosure have to give the maximum possible

total area?
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3. (10 points) Consider the function, f(x), given by the graph below which
consists of two line segments and a lower semicircle.
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a) Find the multipart formula for y = f{x).
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b) Compute the value f(4).

F(H)= 3-J4-y-5*
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6x? , if x<2

4. (10 points) Let f(x)=3-x? and = :
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a) Evaluate and simplify =+ a) fx) . (Simplify as much as possible)
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b) Give a multipart formulai:nr the composition f(g(x)).
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¢) Give all values of x that satisfy g(x)=6.
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